CHAPTER 9 – Multiplying & Dividing Fractions - TEST BANK

Multiply or divide.  Box in your answer.

9-1.  
[image: image88.wmf]   

?

 

3

2

  

  

2

1

´


  

9-2.    
[image: image2.wmf]=

´

   

5

  

  

2

1

3

        

   9-3.    
[image: image3.wmf]3

2

 ÷ 4 =

 9-4.  
[image: image4.wmf]6

5

  ÷ 
[image: image5.wmf]6

1

=


9-5.    
[image: image6.wmf]5

4

4

  × 
[image: image7.wmf]3

1

3

 = 

  9-6.    
[image: image8.wmf]2

1

6

  ÷ 
[image: image9.wmf]4

3

2

 =  

Write a number sentence for and solve.

9-7.  Iris baked a dozen cupcakes.  James ate 
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 of the cupcakes.  How many cupcakes did James eat?

     
_________________________________

9-8.  The weight of an object on the moon is 
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 its weight on Earth.  If a bowling balls weighs 12½ 

        pounds on Earth, how many pounds does it way on the moon? 

       
 _________________________________

9-9.  Harry is covering the face of his math book that measures 
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inches wide and 
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 inches tall.  

        How many square inches will Harry be covering?

     
 _________________________________

9-10.  The weight of an object on Mars is 
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 its weight on Earth.  If Jenny weighs 92 pounds on Earth, how 

          much would Jenny weigh on Mars?     _________________________________

9-11.  Sylvia has 15 meters of cloth on a roll. She needs a piece of material 
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 of a meter long for each 

          decoration she is making.  How many decorations can she make with the cloth she has?

     
  _________________________________

 9-12.  Three friends are driving to San Antonio from McAllen.  San Antonio is about 
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 miles from McAllen.

           If each friend drives the same distance, how far will each drive?

        
_________________________________  

9-13.  A smoothie maker holds 40¾ pints.  How many  2½ pint bottles can be filled?

       
_________________________________

9-14.   Order the numbers from least to greatest:
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9-15. Which of the following models represents
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9-16. Compute 
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9-19.
 What is the reciprocal of 
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9-20. One third of Julian’s class will be going on a field trip today. If there are 21 students in his class, how

         many students will be in class today?


a) 7


b) 20


c) 14


d) 10

9-21.  Jennifer has 40 pies to sell at the bake sale. If 
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 of her pies are apple, how many apple pies does

          Jennifer have to sell?                  Answer: _____________________________

9-22.a 
Barbara has 
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 yards of string. If she wants to make 8 bracelets of equal length, how long can she

         make each bracelet? (1 yard = 3 feet)


a) 1 foot

b) 6 inches

c) 12 inches

d) 1 yard

9-22.b Barbara has 
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 yards of string. If she wants to use the string to make 6 decorations of equal length, how long can she make each decoration?  _________ 

9-23.a 
Solve the following equation for x.
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a) x = 
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b) x = 4

c) x = 3

d) x = 
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9-23.b 
Solve the following equation for x.
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9-24. 
If it takes 
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 cup of flour to make 2 dozen cookies, how many cups of flour does it take to make 6

         
dozen cookies?


a) 
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b) 1 cup

c) 2 cups

d) 
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9-25. 
If it takes 
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 cup of sugar to make a coffee cake, how many cups of sugar does it take to make 6

         
cakes?
9-26.
 Which of the following represents 
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 as a percent?


a.  2.4%

b.  24%

c.  12%

d.  60%

9-27.
Which of the following represents 
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 as a percent?


a. 32.5%

b. 3.25%

c. 62.5%

d. 6.25%

9-28.
Convert 
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 to an equal percent.

Answer: 

9.29.
 Convert 55% to an equivalent fraction.


a. 
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9-30.
Marie ordered a large pizza for herself which contains 8 equally sized slices.  If Marie ate 3 slices,

            what percentage of the pizza did she eat?

a. 25%


b. 30%


c. 32.5%

d. 37.5%

9-31
 Nate plays on the school basketball team. This season, he attempted 40 free throws and made 75% 

            of them. How many free throws did he make?     


a. 10


b. 30


c. 35


d. 4

9-32
In a class of 24 sixth graders, 25% walk to school, 
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 ride bicycles to school, 
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the bus, and the remainder commute by car. 


A. How many students in the class ride bicycles to school?      Answer: _____________________


B. How many students in the class ride the school bus?            Answer: _____________________

C. How many students in the class commute by car?

     Answer: ______________________

9-33. The delivery charge for a local furniture store is 10% of the purchase. What will the delivery charge be 

         for a purchase of $112.50?


a) $11.25

b) $12.50

c) $1.12

d) $22.00

9-34.  Define percent.    _______________________________________________________________


_____________________________________________________________________________
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9-35.  Sean practices playing the piano for 3½ hours
9-37.  Mrs. Pendry has 1 acre of land.  She has 

          each week.  If Sean practiced for a total of 
 marked off  ⅔ of the land for a vegetable

         

          28 hours, which expression could be used to
 garden.  Mrs. Pendry will plant corn in ½

          determine the number of weeks he practiced?                 of the vegetable garden.
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8-36.  Samantha is using a wooden strip 
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       long to make a picture frame.  If she cuts off a 

      piece that is 
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      represents the portion that is left of the original
How much of Mrs. Pendry’s acre of land will

      strip?






   she plant with corn?
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9-4[image: image82.emf]38.  Which expression does this model represent?

9-39.  What is the value of  
[image: image71.wmf]9

3

3

2

5

¸

?

[image: image83.emf]









F     17


H    10


                                                                                                 G
    
[image: image72.wmf]9

17




J     
[image: image73.wmf]3

1

5

      
[image: image74.wmf]    
[image: image75.wmf]



[image: image84.emf]








A    
[image: image76.wmf]  

2

1

  

  

12

10

¸



B    
[image: image77.wmf]  

6

5

  

  

12

10

¸




9-40 
Which model best represents the product:
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